prepp

Practice, Learn and Achieve
Your Goal with Prepp

UGC NET Exam

Criminology

Simplifying
Government Exams

@ ssccHst | £ 1asexam | (D) RRENTPC | GO NTSE | £ cDs
& cBsEuGC NET | (i7 1BPS PO | 7 NDA

€ ssiro | (17 1BPs CLERK | &y AFcaT | @

@ csiRucc NET | @ capF | (i7 1BPS RRB



https://prepp.in/
https://prepp.in/ssc-chsl-exam
https://prepp.in/ias-exam-exam
https://prepp.in/rrb-ntpc-exam
https://prepp.in/ntse-exam
https://prepp.in/cds-exam
https://prepp.in/ssc-cgl-exam
https://prepp.in/cbse-ugc-net-exam
https://prepp.in/ibps-po-exam
https://prepp.in/nda-exam
https://prepp.in/sbi-po-exam
https://prepp.in/ibps-clerk-exam
https://prepp.in/afcat-exam
https://prepp.in/ssc-je-exam
https://prepp.in/ctet-exam
https://prepp.in/csir-ugc-net-exam
https://prepp.in/upsc-capf-exam
https://prepp.in/ibps-rrb-exam

Signature and Name of Invigilator
1. (Signature)

OMR Sheet No. :
(To be filled by the Candidate)

Roll No.
(Name) , ——
2. (Signature) (In figures as per admission card)
Roll No.
(Name)

M6 SH

Time :1Y/, hours]

PAPER-II

(In words)

Test Booklet No.

[Maximum Marks :100

CRIMINOLOGY

Number of Pages in this Bookle16

Number of Questions in this Bookles0

Instructions for the Candidates

Write your roll number in the space provided on the to
this page.
This paper consists of fifty multiple-choice type of questi
At the commencement of examination, the question bo
will be given to you. In the first 5 minutes, you are reque
to open the booklet and compulsorily examine it as belo
(i) To have access to the Question Booklet, tear off the g
seal on the edge of this cover page. Do not acceptab
without sticker-seal and do not accept an open boo,
(ii)
the booklet with the information printed on the cover
page. Faulty booklets due to pages/questions missi
or duplicate or not in serial order or any other
discrepancy should be got replaced immediately by
correct booklet from the invigilator within the period
of 5 minutes. Afterwards, neither the Question Bookle
will be replaced nor any extra time will be given.
After this verification is over, the Test Booklet Numk
should be entered in the OMR Sheet and the OMR 9
Number should be entered on this Test Booklet.
Each item has four alternative responses marked (A), (B
and (D). You have to darken the oval as indicated below 0
correct response against each item.

Example: (AD ® D>

where (C) is the correct response.

Your responses to the items are to be indicated ixrtbaer
Sheet given inside the Paper | Booklet onlyf you mark at
any place other than in the ovals in the Answer Sheet, it
not be evaluated.

Read instructions given inside carefully.

Rough Work is to be done in the end of this booklet.
If you write your name or put any mark on any part of the|
booklet, except for the space allotted for the relevant en
which may disclose your identity, you will render yours
liable to disqualification.

You have to return the test question booklet and OMR An

(ii)

sheet to the invigilators at the end of the examination

compulsorily and must not carry it with you outside
Examination Hall.

10. Use only Blue/Black Ball point pen.

11. Use of any calculator or log table etc., is prohibited.

Tally the number of pages and number of questions in

Tentira & fera fdr

blof T&et 56 o S I T W 37T Aot TR foAfau |

2. THVRE-UF § UEN Sgfashedia IR € |

RS oRieT WRET B W, UTH-GfEdehT 3T < St SR | et e

Dklet firrz srept wrom-gficert @ier qer Swe! ffefad st %

pted fom fidt ST forraht sirer st v At & -

V() T-gfaeT wier ¥ I S R T T o T 3

aPEr et =t TS | gelt g AT farT -t g

oklet -

Klet. . .
(ii) FaR I W B FETER WvA-URaehT & g e ugi

Wt WEAT Bl BT THE 96 B A 16 A W E | et

TRt e oo/ W AT g 1 T A A Hitae

O et ot e i v B gt af e
2 F AT I AT IH ANCTHT IS W U O TE

TH-RAHTA S | 39 foTe et vt faee fear s |
I &g T AL AR TI-YRAHT AT oA SR HY T
& amut arfafia qwa faar s |

(iii) 39 it % 915 UeH-gReehT St 3 =T OMR 956
3ifeh X 3T OMR Ueh ohl 5hH ST T 9 -ReehT TR
FRTIT |

Teieh W9 o ey =R e farehed (A), (B), (C) @2 (D) i@ =

£ | MUY eI TR o LI ol U W 9T ShTeAT ST € STl

foh e femmr T &

wEwwm: A L _NGY)

STaifeh (C) WETSWE |

5. T oh ST charet WA O 1 % o1 o T SeR-wereh Wt 3ifeRa

will € 1 3 3T TR TR W T g o STt Rt ot
T W IR FereAitehd e €, A ST qodiehT Fel en |

6. T &8 T Rl I egEE 0 |

7. = M (Rough Work) 38 qReet o 3119 T8 W K |

st A 31T ITR-TRAHT T ST A A7 UH FHiE S R e

1Ies, grrueht we= &l Heh, fohell St 9T R g9 & 3ifeha et & ot

elf e 35 ot avaier sifere oot fodt ST |

TR TRIRT T & TR Je9-gReh td OMR 3TR-T5h

ToReTeh HE G ol AT SNTevdeh & 3R TRIeT Tl o 15 3§

he 37O 1Y T 9o H dTeY 7 i ST |

10. eret Arel/HTet STel WIEE 4= &1 & TATe Y |

11. frelt off R BT HUTH (FeTpeler) a1 ART ol AT B
yarmafaa |

er
heet

AC)
n4t'he

9.
swer

12. There is no negative marks for incorrect answers.

12. TTeTd 31 & foTT I3 3ieh 1S A& T A |

J-68-10

P.T.O.

1

Latest Sarkari Jobs, Govt Exam

Results,

Vacancies and updates on one click




CRIMINOLOGY
Paper - 11

Note : This paper contains fifty (50) objective type questions, each question carrying two
(2) marks. Attempt all the questions.

Who among the following is the
author of the book The Outsider ?

(A) Sutherland
(B) Einstein

(C) Crany Becker
(D) Edwin Lemert

The concept of ‘secondary deviance’
is a part of which criminological
perspective ?

(A) Constitutional perspective

(B) Social reaction perspective

(C) Radical criminology

(D) Culture-conflict perspective

Who among the following analysed
aggressive behaviour among the
children ?

(A) Sigmund Freud
(B) Eysenck
(C) Bandura
(D) Erickson

Abnormality in chromosomes in
persons increases the probability of
delinquency and criminal behaviour.
(A) True

(B) False

(C) May be true

(D) May be false

Who is credited as the author of the
concept of ‘libidinal fixation” as an
explanation of sexual offences ?

(A) Sigmund Freud
(B) Skinner

(C) Maslow

(D) Sutherland

What is the law, which governs the
organisation of functioning of
prisons in India ?

(A) Indian Penal Code

(B) Code of Criminal Procedure
Code

(C) Transfer of Prisoner Act
(D) Prisoner Act

Incentive given to prisoner for good
behaviour and work is known as

(A) Reward
(B) Respect
(C) Remission

(D) Recognition

Which of the following is defence in
a court of law against criminal
charges ?

(A) Poverty

(B) Necessity

(C) Mental Illness

(D) Social deprivation

A person undergoing life
imprisonment cannot be released
from the jail before completing a
term of sentence of

(A) 20 years of imprisonment
(B) 16 years of imprisonment
(C) 14 years of imprisonment

(D) 10 years of imprisonment
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FIAE |
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(C) T FHAE |

(D) TATE HHATE |

ST STORTE o TILIGHROT & RIS
% TRIEEE S STEURUT H GTh
frAffad 7 A€ 2

(A) TEHvEwEE (B) ReR
(C) HrE (D) WU

6.
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AT hT GeTToTd HLT & ?

(A) HRAE U Higdr
(B) Iy fafy dfear
(C) oSt EMHROT ATy
(D) ST 3rrufras

el Tl IHF 3T FTeR o foru fear
TCHTE ATl &

(A) TER
(C) wTH

(B) WM

(D) T&EH

ORI SR | AT eeial o,
frfeiad § @ i |1 o919 & 9 1 997
fopar sTrem e 2

(A) e

(B) MErIehel

(C) WG SR

(D) ISR ae

IH hel I ST § T« o 8T Tel fomar ST
Hhdl STa I a8 AT ol [hd 3Ta i
o1 § 71 e TR El ?

(A) FETH 20 9
(B) T F 16 a9
(C) T F 1499
(D) |H 1099

Latest Sarkari Jobs, Govt Exam Results
Vacancies and updates on one click




10. Probation can be explained as 13. Match the List — I with List — IT :

(A) The release of offender from List -1 List — II

the prison. (a) Deterrence 1. Discouraging

(B) Conditional suspension of a present or

sentence by court. potential

(C) The release of offender offenders.

without any condition. (b) Restorative  II. Ensuring

(D) None of these Justice offenders to

atone by
11. The study entitled as ‘The Role of suffering for

Victims in Crime’ was done by their offences.

(A) Al Fattah (¢) Humane III. Minimum of

(B) Von Hentig Retributivism suffering to

(C©) Ryan offenders.

(D) Merton (d) Expiation IV. Self-imposed

punishment.
12. Match the List — I with List —IT : Code :
List - I List - II @ ® © (@

(a) Temporary I.  Observation (A 1II 111 v I
shelter for Home B I II m I
children. © o m 1 IV

(b) For the (D) o IV I I

children who
have came in
conflict with II. Special
law. Home
(¢) Institution
facility  for
run away,
thrown away
and  similar

14. Assertion (A) : The most
comprehensive characteristics
of female criminality is that
criminality of women is
largely ‘masked behaviour’.
Marked in the sense of being
hidden by ordinary female
roles in society like housewife,

gri)ledren of L ;};igzr teacher, nurse, airhostess etc.
(d) Homes Reason (R) : Women while
offering care performing their roles
and prescr%bed ‘by the society,
protection of cqmm1t crimes. But these
children crimes are difficult to detect.
before IV. Foster Care (A) Both (A) and (R) are true.
restoration. Home (B) Both (A) and (R) are false.
Code : (C) Both (A) and (R) are true and
@ @» (© (@ (R) is the correct explanation
A I m I IV of (A).
B) I I I v (D) Both (A) and (R) are true, but
© I I IV 1 (R) is not the correct
(D) 1M1 v explanation of (A).
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12.
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15.

16.

17.

Assertion (A) Frederic M.
Thrasher studied gangs in an
American city.

Reason (R) : Thrasher found that
gangs emerge out of play-
groups, and conflict gives
focus to gang-formation.

(A) (A) is correct, but (R) is
wrong.

(B) Both (A) and (R) are correct.

(C©) (A) is wrong, but (R) is
correct.

(D) Both (A) and (R) are wrong.

Assertion (A) : According to David
Matza, norm-erosion 1is the
process of neutralization as a
cause of juvenile delinquency.

Reason (R) : Previously internalised
norms, morals and values are
put aside and the voice of
conscience is silenced by the
juveniles.

(A) (A)is true, but (R) is false.

(B) (A) is false, but (R) is true.

(C) Both (A) and (R) are true and
(R) is the correct explanation
of (A).

(D) Both (A) and (R) are true, but
(R) is not the correct
explanation of (A).

Assertion (A) : Capital punishment,
in India, is used in the rarest of
rare cases.

Reason (R) : Capital punishment is
a non-reversible process of
judicial taking away of human
life and, hence, the term ‘rarest
of rare cases’ is clearly defined

by law.

(A) (A) is correct, but (R) is
wrong.

(B) Both (A) and (R) are correct.

(C©) (A) is wrong, but (R) is
correct.

(D) Both (A) and (R) are wrong.

18.

Assertion (A) Hypotheses are
propositions formulated by
researchers to find out whether
relationship between two more
phenomena is present or
absent.

Reason (R) Hypotheses assist
researchers to establish the
nature of relationship between

two or more phenomena,
without any pre-conceived
notions.

(A) (A)is true, but (R) is false.
(B) (A) is false, but (R) is true.

(C) Both (A) and (R) are true and
(R) explains (A).

(D) Both (A) and (R) are true, but
(R) does not explain (A).

Match the items in List — I with
items in List — II :

List -1 List - 11
(a) Observation (i) Runaway
Home children
(b) Shelter (i)  Children in
Home need of care
and
protection
(c) Special (ii1)) Children
Home with
disturbed
behaviours
(d) Children’s  (iv) Child in
Home conflict
with law
Code :

(@ @b © @
@A @ G 3G 3Gv)
B) @ > 3Gv) (G)
© @) @H 3Gv) G
D) ) Gv) @O ()
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15.

16.

17.

AHAT (A) : HER® TH. WR A
T SRR TR | TRIET &1 et
o |

& (R) : 99X I f=pd ®
fRTel 1 Gor-guel ¥ Sgwd & &
3R "oy R o T = o
T AT E |

(A) (A) W&, R (R) Tod € |

(B) (A) 3T (R)SHI W&l & |

(C) (A) ToTd &, W= (R) TEN & |

(D) (A) 3 (R) AT & |

AMHAT (A) : SMAS A & TR
TIRTERR0T ST UTshAT § |k T THEAT
foh9TR SR FTFRFE |

% (R) I AU i |
MNP HHH, Aash oo 3R
TR i Big {591 ST € 3R o
ST STACHT Tl STTETST ol I
FIIAE |

(A) (A) W&, R (R) T € |

(B) (A) T &, W] (R) Wl € |

(C) (A) 3R (R) IHI W&l & 3R (A)
%7 (R) el TEHT & |

(D) (A) 3R (R) T Fel &, T (A)
%1 (R) el T2eoT &1 & |

AfHIT (A) : TF IUS, 9RA H,
AT AHAT W STEHEIH
e § e S e |

T (R) : g JUS AR
Uik | IR-URaceieT R €
TSTeF ST HTa-STe ol U T
fean <fer &, T@fel ‘s@mEr o
STTIIAH HIHC Y T | T
TRAT T T |

(A) (A) WEE, R (R) T € |

(B) (A) 3T (R)SHI Wer & |

(C) (A) ToTd &, W= (R) TEN & |

(D) (A) 3 (R) AT & |

18.

AafiwaT (A) @ uRehed wEE
TSRt THTOT STeTTehdl e ST
o feTu shee & fop o RIS <1 e
ater ufaqwrd o fommm st
ATGHAE |

& (R) : URepEaT et
STTUYM 1 eI At § fF 9
for foplt gatore o <1 everan sifueh
YIS T ST
TqH |

(A) (A) W&, R (R) T € |
(B) (A) T &, W] (R) HEI & |

(C) (A) 3R (R) SHI W&l € 3R (A)
%I (R) WL HEATE |

(D) (A) 3R (R) T T &, W (A)
%I (R) T F&1 &l |

M| I (- o o o o i

guferd T
T -1 el - 11
(a) TR TR (i) WIS I |
(e
k)
(b) GieTd THF- (i) T =
' TG 3R
T AT |
(c) TRt T& (iii) SATHA FEERATA
T |
(d) T & (iv) A & g9 |
T 5= |
Fe

(@ @b © @
@A @ G 3G 3Gv)
B) @ > 3Gv) ()
© @) @H 3Gv) G
D) ) Gv) @O ()
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20.

21.

22,

23.

24.

Social workers are not appointed as a
member of the Juvenile Justice
Boards.

(A) True

(B) False

(C) May be true
(D) May be false

Child labour is a form of
exploitation of children.

(A) True

(B) False

(C) May be true
(D) May be false

Intervention counselling is useful for
(A) Confidentiality

(B) Problems

(C) Priority

(D) Compulsive eating

United Nations Social and Economic
Covenant deals with

(A) Political processes
(B) Business activities
(C) Suspects and Convicts

(D) Social activists

The name of the law which provides
for Protective Homes is

(A) Immoral Traffic (Prevention)
Act

(B) Juvenile Justice Act

(C) Narcotic Drugs &
Psychotropic Substances Act

(D) Borstal Schools Act

25.

26.

27.

28.
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The Institutional service provided
under the  Immoral  Traffic
(Prevention) Act is called

(A) Special home
(B) Children home
(C) Rescue home

(D) Observation home

Which of the following is women
specific crime ?

(A) Murder

(B) Dacoity

(C) Chain snatching
(D) Robbery

What is the proportion of women

arrested for committing various

crimes in India ?

(A) Less than 20 %
(B) Less than 40 %
(C) Less than 60 %
(D) Less than 80 %

When the statement of a woman

witness is recorded by the

Investigation Officers, is it necessary
that a woman Police Officer should
be present ?

(A) True

(B) False

(C) May be true
(D) May be false



20.

21.

22,

23.

24.

HATST HIhATST RN =T i A
TEE TgeRT @1 Rl STl |

(A) &l
(B) eI
(C) TEIETHHAE |

(D) TATE FHATE |

TA-21 STeAehi o JN60T ol Th T |
(A) &

(B) eI

(C) THEFFME |

(D) TATE HHATE |

TR WA AR &

(A)  TMY=RIEr % fou

(B) w1 fer

(C) Temmar & fow

(D) e HisH @M % feiw

e e &

(A) TTHITeR TTshaTa b1

(B) AR Tohamati st

(C) ifery wdl gfved sfeal

(D) WIS ®9 H AlshT Sl 1

T e HT U HA aTel A H
THE

(A)  3faes =R () etfufem
(B) TR =ma sifitaq

(C) W@UH ANY T Hmeds ey
ICIEph

(D) =Geet Wt StatEg

25.

26.

27.

28.

afas <8 =R (FRw) efufag &
T T gnifaa Gematt =1 W R

(A) fafreE
(B) ot Te
(C) e
(D) TEET T8

fefefiad & & et gt SR B
qE?

(A) &

(B) kil

(C) T B

D)

IRT | Rl 517 fohd T2 STRre § 3o
3T &

(A) 20 % AHH

(B) 40 % A FHH

(C) 60 % dFH

(D) 80 % WFH

S fRdl - T 9FH 3TNl
st R Nehre feoman ST €, o ==
Tg EYAF & T 3T TG TRT HE S
gfera iRy oft Suferd & ?

(A) &l
(B) eI
(C) TEIETHFATE |

(D) TATE HATE |
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29.

30.

31.

‘Victim surveys’
following :

bring out the

(A) Reported crimes
(B) Hidden crimes
(C) Victimless crimes

(D) All of the above

Arrange the following penological
concepts as they evolved. Use the
codes given below :

L Reformation
II.  Retribution
III. Rehabilitation
IV. Deterrence
(A LIV, 1L 1
(B) LILIL IV
©) ILIV, LI
(D) IV, ILL IO

A prisoner goes through different
stages in the jail. Identify the correct
order in which they progress in the
jail.

(A) Admission, Classification,

Release and Vocational
training.
(B) Classification, Vocational

training, =~ Admission  and
Training release.

(C) Vocational training,
Admission, Release and
Classification.

(D) Admission, Classification,
Vocational  training and
release.

32.

33.

34.
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The stages involved in placing a
person on probation is given below.
Use the code provided to indicate the
correct sequence of events.

I.  Pre-sentence report

II.  Release on probation

III. Reference by Magistrate

IV. Revocation

Code :

(A IV, IL LI

(B) LILIL IV

(©) IV, ILILI

(D) L LIL IV

The Criminal Justice System has
several sectors as given below.
Arrange them according to how a
criminal case progresses, by using
the codes.

L Correctional system
II.  Prosecution

III.  Police

IV. Judiciary

Codes :

(A) TLIV,L1I
(B) IL 1, I, IV
(C) IV, ILILI
(D) MLILIV, I

Match the items in List — I with
items in List — II :

List -1 List - II
I. Traditional 1. Arms
crimes smuggling
II. Organized 2. Software
crimes piracy
III. Cyber 3. Unnecessary
crimes Pathological
testing
IV. White collar 4. Robbery
crimes
Code :
I II m  Iv
A 1 2 3 4
B 1 3 4 2
< 4 1 2 3
D) 3 4 2 1



29.

30.

31.

Sefifed =Afeat o Faerr | fmfafed
o 9§ fereht o TAdT & 2

(A) RN s

(B) W 3T0RY

(C)  Sedtg-Tlee Ty

(D) Wi T

Frfefaa querhs fas & 3T

foem sFAMER fafen | 38k foe uew
IS T YT A

I  9§€X I ey
Il 9 v, fREs
FE:

(A) LIV, I 1O

(B) LILIIL IV

(C) ILIV,LII

(D) IV,ILTL 11

T Hal I St § =T FmT & R

Tl € | 37 WU & W&l shH ol e

HifeTT ;

(A) VAT, TFERIT, RETE Ue Sedash
PINEL)

(B) Ih0T, SATEHTEeh TIYTeT0T, HasT
wd e

(C) T iTeIoT, yawT, RerE ud
STERYOT

(D) AT, ST, SATEHEE HT9TeToT
wd e
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32. ToRd! AT 1 ARG H W@ & &

33.

34.

HioMT =l A G2 ST @1E | ue IS i

TETAAT | T WA % TEl HH AT
I ooy R
. oieen R fEs

I AfTEe g1 Y foma gam

IV. wfaseo

FE:

(A) IV,ILLI (B) LIL I IV
(C) IV,ILILI (D) IILILIIL IV

TR =1 Ggid & fatv= @oe € |
TS IS o MMYR W T 39 HH H I
TSTE weh SATIRITeh HHeTT I Sl @ ;
I gURHS Ugia

I  ehmEse

100 A i<

IV. =T

S :

(A) ULIV,L I (B) ILLILIV
(©) IV,IOLILI (D) ILILIV,I

gAl-1 =t we A ga-ll & 5k«
gHferd it

et - I e - 11

[ URER$ 1. BIERT i aendt
Y

[I. decds 2. Qioeaa et
Y

I, |rEeR 3. IHEYTS
ARTY TATerRRT URIEToT

IV. ThEaRT 4. TESHT (IR
Y

S :

I n m v

A 1 2 3 4

B) 1 3 4 2

(C) 4 1 2 3

(D) 3 4 2 1



35.

36.

37.

38.

Which of the following made
criminology a scientific
investigation, based on cause and
effect relationship and open to
discovery ?

(A) Classical approach
(B) Natural sciences
(C) Demonology

(D) Positivism

Which is true of the neo-classical
school ?

(A) It accepted all the principles of
classical school.

(B) It assumed that all individuals
were not equally rational.

(C) TItrejected deterrence.

(D) It thought judges should have
no discretion.

Who postulated that the gap between
goals and means gives rise to strain ?

(A) Durkhiem
(B) Sutherland
(C) Merton
(D) Hirschi

Crime is explained in terms of an
individual’s resistance to tendencies
and situations. This is told by

(A) David Abrahamsen
(B) William Healy

(C) Adler

(D) August Aichorn
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39.

40.

41.

42,

Mohan is charged with drug
trafficking, but claims that he was
unaware that a small parcel he had
delivered to an individual contained
contraband drugs. This is defence of

(A) Negligence

(B) Misrepresentation
(C) Necessity

(D) Qualified privilege

Albert  Cohen
Juvenile delinquency arose from

maintained that

(A) Over emphasis on aspirations.

(B) A reaction to their failure to
meet middle class values.

(C) Weak social bonds.

(D) Differential social association.

Who among the following persons is
associated with the emergence of the
field of victimology ?

(A) Edwin H. Sutherland
(B) Hans Von Hentig
(C) Robert K. Merton
(D) Emile Durkheim

Charge-sheet is filed in
(A) Court

(B) Police-station

(C) In Village Administrative
Office

(D) In the Regional Transport
Office



35.

36.

37.

38.

frfead o & foret aormy fost ot
FRE Te T T 3N SFIHE 3R
SfeI-TrgaTer o foTd et ?

(A) SFTTgehet AT
(B) Wepferes fasm
(C) Tuema fom=

(D) FHRIHSAT

oA Thel o T § el €

(A) T TAMGHRA A & gt
TagT=l ! iR T |

(B) T=M Ig A forar fF @t =Afe
T €9 4 foaeht T e |

(C) T o Mg &I & T |

(D) T fauR o1 fo6 =reneen i
foaera iR U Tl BN
T |

TE foree ofaaied o 6 @ed 3R

HIYHT o SR TS 3= hiaT & ?
(A) TEH (B) TERETE
(C) weA (D) Tew=l

oS T FgrRIeldT 31X STeeT & Urd
TTeRIY hT T fehe FeT e ?

(A) Sfae swmerE
(B) fafcrm gctt
(C) TEW

(D)  3TTE T

39.

40.

41.

42,

e W I & {oh 98 AISeh 51 b1 AR
£ TR SHH FF & 6 S Bler a8
3T Toprdll =afart o1 e, o =@l Ste o
S AR s | T UT

(A) TITHRETE! F |
(B)  9THeh Udrrece &l |
(C)  3TEvgehal i |
(D)  3TET-UT Qe T |

o HRA B v & b fRvin-
3TER 1 3T &t &

(A) SIS W 3AH a1 7 &
<hIROT |

(B) TeHT Hodl aF = Ugd UM i
TidteRar |

(C) THeet | e |
(D) faien gmfses Qeay |

fefefaa 5 9 &9 91 SAfega saifed
ToeT o 3va & It & 2

(A) TEfeA TH. WEXeI0S
(B) & ®H f=
(C) e . 7
(D) EmTEe 3w

3TRIT U TR T ST &
(A) =@ H
(B) Hfer At
(C)  TTHIOT yeTH e o
(D) &1 9ieed e o
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43.

44.

45.

46.

Which one of the following is
correctly matched ?

(A) Chi-square — Correlation
(B) Measure of — Standard
dispersion deviation
(C) Mode — Range
(D) Regression — Bi-variate
statistics

Which of the following pairs is not
correctly matched ?

(A) Cesare — Classical
Beccaria school

(B) Economic — Karl Marx
theory

(C) Psycho — Sutherland
Analytic theory

(D) Anomie theory — Durkhiem

Doctrine of ‘mens rea’
means ‘Criminal intent’.

(A) True

(B) False

(C) May be true
(D) May be false

literally

associated with
morphological characteristics.

(A) True

(B) False

(C) May be true
(D) May be false

Merton is

47.

48.

49.

50.
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Read the paragraph given below and
answer the questions from 47 to 50 :

Forcible narco-analysis,
polygraph and brain-mapping are
held as unconstitutional by the
Supreme Court. This is a blow to
police ~ working, @ who  were
increasingly using the procedures.

What is held unconstitutional ?
(A) Forcible scientific testing
(B) Scientific testing

(C) Lack of testing

(D) All of the above

These techniques are used for
(A) Crime investigation

(B) Exumation

(C) Proclamation

(D) Identification

Why do the police increasingly use
these techniques ?

(A) As a short-cut method in crime
investigation

(B) Due to lack of other techniques
(C) Because it is more scientific
(D) All of the above

What is the evidentiary value of
these techniques in courts in India ?

(A) Fully admissible as evidence.

(B) Admissible as
evidence

corroborative

(C) Not admissible in court
(D) All of the above



43.

44.

45.

46.

fefotfad o & % 91 9et ®9 7 gafed
&7

(A) FEEERR - Ty

(B) Toa@ 1 — A faged
qq

(C) =g - ™

(D) TETZET —  Tgforae qitegent

fefetfad o @ o o1 T8 ¥ & gafed

FiE?

(A) IR SeTan . SURE

et

(B) onffehfagra - ool o

(C) TR — WA
TorveteoT g

(D) ViqHER — g@H
fagra  (smHmE
Tag=)

T @ a1 Wi 7 & “SURITR
R |

(A) W@

(B) T |

(C) TR THRAE |

(D) TATE HHATE |

HEA ST ToIT o TR0 | T4 € |
(A) W@

(B) TeId |

(C) TR THAE |

(D) TATE FHATE |

47.

48.

49.

50.

ST TEITST i Ugeht U9 47 I 50
FHIIWS :

FEA AR fawersoT, difermd: 31k
TAITEET T HIE FRT STHSETD
AT T € | A YT e qoTed
TR &, YT ST TR TFRT AT
of |

AT fohd Sexa T ¥ 2
(A) ST AR TLreqoT
(B) SR TRreToT

(C)  TXrequT T 37T

(D) SWiET T

T CIohwiIeh! <1 ST BT &

(A) 3TIRTY 3T

(B) s ¥ 080T & ToTU FhTerT
(©)  gEmm

(D) T&=H

T AT T TN JieTd feehe? s/l

FRATE ?

(A) STRTY STENUT W Tg-AE
Y & feT |

(B) 3T TohIehl o 3T o RO |

(C) T HAYHeR au-eh &84 &

FHROT |
(D) SWE T |

IR H g TeheI1ohl & TG Go &
(A) YOTHT AT AT

(B) Hwfee | & U H 0T
(C) oI T T Tél

(D) Wi T
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